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[C@de No. SY 50]

MODEL EXAMINATION- FEBRUARY 2018
Part 111
ACCOUNTANCY WITH CA

Maximum : 60 Scores

Time : 2 Hours
Cool -off time 1 15 Minutes

a)

DalAHOETON

Answer all the guestions from 1 to 5 each

" General Instructions to Candidates :

« There is 'Cool off time' of 15 minutes to the writing time.

» Use the 'Cool off time' to get familiar with questions and to plan answers.

« Read questions carefully before answering.

« Write answer to the specific number of questions as instructed.

o Calculations, figures and graphs should be shown in the answer sheet itself.

» Malayalam version of the guestions is also provided.

« Give equations wherever necessary. '

« Electronic devices except non programmable calculators are not allowed in the Examination Hall.
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PART A - ACCOUNTANCY
1 @33 5 UGBS R0 21035633200

tion carries 1 score SOMOSDL)M) D $360MINY0 1 AEsD Wl@®o .

In the debit side of the Receipt and Payments
account of a club showed a pavilion fund of
Rs. 10,000. While preparing the final accounts
of that club, pavilion fund should be shown

1

530) Gendled alemo TNGAIEOTH OS] LD
@R He DeNEia pavenily eequalcd 10,000
0)eS aluelem A0E @M. @D
EUOTH ODanMmO BRAHDETE  DHYINIBN
emIod @ anemd aleswoeT &»oemnl
RSN,

Asset side of balance sheet o) 6nes) al@OnTe @RIodl eeauaLics
liability side of balance sheet and) 5108 a(@OETIS] IO BT
Debit side of income and expenditure account oVl cuoal eaieial esmasion awenig eamonsl
Credit side of income and expenditure account ) ouodi aaiei] eemalec 9y ool

P, Q and R are partner in a firm sharing profits
and losses in the ratio of 3:2:1. R retired from
the business. Gaining ratio of P and Q will be

2:1 b) 3:1 032 Al

P, R agaPiad aimoglom endiaslngpidss
poer’. R enilavlmavicd mimmye aflesia)). P Q
AIIILE)RS GG @RMAIdO ARG ?

ag)) 2 enf)) 311 ) 22 oy 11
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c)
d)

On dissolution of a firm the Joss on realisation
is transferred to

~~ Debit side of partner’s capital account

Credit side of partner’s capital account
Debit side of bank account

Credit side of bank account

A and B are partners in a firm sharing profits
and losses in the ratio of 2:1. They admitted
C into the firm for 1/4*" share in future profits.
The new profit sharing ratio will be

08 3 b) 2:2:1 c)2:1:4 dSZ:l:l

Receipts and payments account of a not for

profit organisation 18 s1rmlar 10 tiivevene of a

business organisation N
g;;s o

profit & loss account &

Cash book :i

Balance sheet N

All of the above — Gx1=5)

Answer any 3 guestions from 6&49 9. Each

question carries 2 score

9.

<

Akhil, a partner withdrew Rs. 4,000 each on
the last day of every month throughout an
accounting year. Caiculate his total interest
on drawing at 12% p.a.

State any two circumstances under which a
partnership firm will be dissolved.

Name the accounts to be prepared on
dissolution of a firm, except cash/bank
account.

State any two features of not for profit
organi%ation. 3x2=6)

of)

80) ~mogiom mIaVlmq) @PSaj)al}gyam
MAVED OlWeHHEIETVAHMD BRHDIEIN TR
MaiSo af)aIm) 6alQGan),.

AtH0ElHE)9S MAIW) BRESDNEINR HALENIFG
OOTOWI@E 506 lee}aN).

onil) aSOSle:E)Hs MEKLT ERAHDMNEINNG HBAIY

al) enios; @raswaEled ewmilg

wsl) nios: @RSV oLy

ag))

)

eOTUWIE3  H5:06MIanam).

e Tualod
E06IMBYN).

6 auWwlad
H0EMIHANIaM].

A, Bagamlald 2:1 af)M @RM)aI0GODI@ L2106
Matiseasud ANoles)am almoglom eniaslmqy)
0006, @PAId C af)TH UIBONOR ol
@0t enflavlmqyled aimoglwodl 1/4 108
Matis aimImMow] GaI@8)aN). EREEIOMHW
B0 @RAIOYOS alj®I® LIBEMAHS alElSO3
@OM)IO®O aRDOETI?

111 enil) 2:2:1 avl) 2:14 awl) 2:1:1

£10GR2OWILIOD B0} BIGNEOHMEIVAUNTG
aleMo TUGHGlHE OBHIS)EHT @REHDENS
80) mAmImay B03WOOHMBEIVHNTG aBONM)
©)E12061

LI0ER-MaS BHETNGE

endl) &30 61106

avl) enesil al(@o

awl) oyealad al0emIGlee)M@ af)ejoo  (5x1=5)

6 MO8 9 AUNOW)BB C2103468BF1G) aBO@ESIEN0 3
Al QOMONAL)®]dh BICOI C2103yOmIn)o 2
aneHad aflmo

6.

@ afled o)an al&n0gl af)2lo 20aTVAN0
@QITVom Ao 4,000 0)al Al®o 80)
aldacomaes  enflavlmquled  miamyo
allBaieilen)m). @REZ.0TMON GaoVlod)
e oteflvd §o) UGUCODHS 12% AUOGaHls,
DRSETT HEMBDODS)Ds. p i

80) ~moglom milaiingy @RSaf)alS53Mm
aBOOESIL)0 O TVMABEEBUD )9}

a0 amoglom miminqy GRSajal51am
MR2OOD OQIOICED NS oG:éOng//GDJOQ;
288 TRAODETE afGOSNAD af)P}®)d:.
piogomlal caieng]l (aiidomylon)mleloem
803WAOMEIVAUHMD  ofO@B;ILN0 OME
rOANCUHDDHUD  af) PO (3x2=6)
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Answer any 1 questions from 10 to 11. Each 10 my@©d 11 HCQ)23 ca103\ea3glal age@®leno

question carries 3 score 1 agaEmIa} SUNEHBL}@A FOCAI G210 O
3 ave»2d arfloo

0. Arathy and Aswathy are partners inafirm. 10 @goo, ©oOI®] aymaid & 081 om

They admitted Anjaly in to the firm for 1/4" enflonfinqlad AIE055lEg06m. @RAIA @RevRA
share in future profits. As per partnership deed A ML o} O®OW] enfloim quim)
Anjaly should bring Rs. 70,000 as her capital BIORMAISEB)OS 1/4 alBlnoe] (n16aIGlaflal.
and Rs. 20.000 as her share of goodwill. At 5008 (al&000 @6 Rell 70,000 0ol
the time of Admission of Anjaly, the balance meiwmeoelsio 20,000 0ol @b Gal01HW
sheet of Arathy and Aswathy showed a al@0@1g)0 OdIEMBIAIDEDo. @n oo el
goodwill of Rs. 15,000. (el  Glaimo ERECIVHSVY0

@RI DHSWY0 a0 s el ®OmICS 15,000

Pass Journal entry for the above transactions. 5
oaies wycballad OB,

2} 81 d al06o G180 Mm@IM RO @3
afB(S! IO

17, Following information was given by Adithya 1. @GO} Gan0aSaflQ@ 31.3.2017 @3 @RI
Hospital for the year ending 31.3.2017. 90 Aduomlesl ©®06Y  al0VIaD
aill0IesEBUE @MY

l 1.4.16 | 31.3.17
Rs. l Rs. |
| Stock of medicines 3000 | 8000 1

Creditors for suppliess of medicinesl 5,000 | 6,000
| _

| _
The total amount paid for medicine during the year was Rs. 70,000

Calculate total amount of medicine to be @R GandMiailgalend 31.3.2017 @3 @IV
debited in the income and expenditure account 20T QBaucTioer Hio @ aleldl SHEMAHI0d
of the hospital for the year ending 31.3.2017. SH0INGENETE DOITIHAT ) HANBHOBN] .

(ix3=3) (1x3 = 3)

;s @miloksean 12 fo 12 2o ©a1031mBU3 B0

DIBB6) 1Y, T} h. BITTI G21031@mIM0 4 FVEH03

afias

120 B0lafG0W B0, asmsosiom  enflalmaIho
09} oRem @0 B9 D ME1e ) o LH g
HOTUASITE QUIE)D apmesieo 4 DMEBBUD
ARSNGB

Answer all questions from 12 to 13. Each
question carries 4 score

12. State any four items appear on the credit side
of a deceased partners capital account.

. : ) ) 1. enflemy, milaw), @pEIo - U@ 2:2:1 af)Om
13. Bindhu. Sindhu and Athira are partners in a > de; 2 29

firm sharing profits and losses in the ratio of
2:2:1. On 31.3.2017, Sindhu retired from the
business. On that date goodwill of the firm
was valied at Rs. 80,000. Bindhu and Athira
decided to continue in the business in the ratio
of 1:1

@B} a0 OO 180100 enilavlmau)
&000aT. 313.2017 @@ avlaw) snlainqylcd
mlanie afloaiaf). anealas)mm alaiavo
eniodlmqilany aV@Beo g Melyo 80,000
Do kOO @0eMlHN Ty snfia)nljo GRHGIBW)o
Aauioquled 11 ofav @mmgmo@mmmﬁ
ms00®@ ®loyromlal,

Pass journal entry for the Sindhu’s share of , e byl ‘
miireallad a0 om)0ilessTs uEdcadlon

goodwill. i <oy e A T
0 0 0"~ , ‘ B pMo Gl Bea ERENEd oS! Af)EI) .
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Answer any 2 questions from 14 to 16. Each
guestion carries S score

l‘}l/ Ancy, Jancy and Bincy are partners in & firm

15.

sharing profits and losses in the ratio of 2:1:1.
They dissolved the firm on 31.2.2017. On
dissolution following were some of the
transaction taken place after the assets and
liabilities are transferred to realisation
account.

Creditors were settled at 10% less than book
value (Book value was Rs. 40,000)

Stock was taken over by Ancy at Rs. 38,000

Realisation expenses amounted to Rs. 3,000

dotal assets realised Rs. 1,20,000

There was an unrecorded computer which
was sold for Rs. 12,000

Pass journal entries for the above transactions.

Rajan, Sojan and Jojan are partners in a firm
in ihe ratio of 3:2:1. Their capitai balances
as on 1.1.2016 were Rs. 70,000, Rs. 60,000
and Rs. 50,000 respectively. According to the
parinership deed;

All the partners are entitled to get interest on
capital at 10% p.a.

Sojan is to get a salary of Rs. 3,000 per month.

G

Interest of drawings 1s to be charged at 15%
p.a, urespective of the period of withdrawal.

Their drawings for the year 2016 were Rs.
20,000, Rs. 10,000 and Rs. 10,000
respectively. During the yvear 2016, the firm
earned a net profit of Rs. 60,000 after making
all appropriations (divisible profit)

b-w

repare capital acconats of partners under
fluctuating capital method.

@oae oanlelen)an

14 B)OGI 16 AUSHEG

Gal036aBU3ae aga@@sieno 2 ofamomls) some
HDP) T . 3IGRI CaIIBITWIN)o § AVEMHIB afime

4.

ag))

enul)

al)

awl)

)

af))

enil)

avl)

@R@av], oM@y, enll@ad) aganlaid 2:1:1
af) @M ) s D) O3 a0 z1om
enAUIMQRI:006NT. 31.3.2017 @3 @RAIOIOS
sniladlngy @rsa)) afsl. oloeslearvaumd
@esnvaElcaidss @Iiolsgio MW
HBlo B0QIWEWaHe @09  alOWIIM
DSaldS)»ud TVoR0lay).

oBaslegdmilal enyasienss myeolene 10%
$)02] ®1Bajosel. (npsslont @) 40,000 O)al)

@RS af)M iB:0g GAYIGS 38,000 OB
aBOYSI 0.
cﬂ@a@e!cscmnaaac@ 62210003 3,000 O)nIWO6ENS

HDOTH BRI B03 allgl #15lw @y 1,30,000
@)l

DOAUSNO MNNESIBY COEUOQ|S)TDOTD &)
SMINS3E ailg 12,000 0jal SlS).

M HB10B aloaomloisn) Mm@V cRAem@d
of)BSIHUB  ag) ).

©ORAT, GTVORM, GEROWD afaWIaI@ 3:2:1 af)an
@M@ EMIGE aimogiom milavlmay)
SHOOOEM. 112016 OB @PAIOYHS A)LIWMNo
WLNSR0 @THY alc@IN Bl@Iensn). 70,000
@)al, 60,000 @)al, 50,000 0)al. BROIC)HS
Al oo $098 (aldhd00

af)210 alB0Fl:h0Ben)o @AIOOS MeILMGEITINS
10% o@atils: Wlossiad el eiElon)o.

GO )M alD:08Hk06) (IGIAOMVO 3,000 O)al
oMo aislan)o.

algpogle@)es elwolodmilal 15% aodaidls
mlesslad aieNw @oDsossemo. aleflom
EDVSOLNETUIUWD SHORNAUW] HEMHHIBNIND)
@2)9;0U08 CIBeH@TINMe HDSIBHEMO.

al:08lh8)0S GLWIIoUIMN WINO(h@o 20,000
®)ad, 10,000 @)al, 10,000 @Yol af)IVIETBOHMOIEN.
2016 QUBHOIGCH )0 @RGLad(adlcatim)o
msEIWewaio slAVINTY 60,000 ©)al
20EM)MBIBS. (003 alleedlonoanam aincaeny)

@ oglie 31605 BYRIWD @ 96 D 6N
aoilateiloanan ololoiod wgoosen)s.
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6. Following is the Receipts and payments

account of a club for the year ending

31,3.2017.

16. 830} niload 313.2017 ©3 GRAITLIMIEHTY
AUBHOT adeMo VI 0lan s DI TGT
ARBHDENE DOOP HB:05)H) ).

D, Receipts and Payments account as on 31.3.17 Cr.

; Receipts Rs. Payments Rs. |
Baiance B/d 5,000 Library books (01.10.16) 8,000
Donations 3,000 Stationery 5,000
Entrance fee 6,000 Refreshiment 4.000
Donation for building 10,000 Telephone charge 1,500
Subseriptions 21,000 Salary 16,500

Balance c/d 10,000
45,000 E 45,000

Additgonal information

a) The club had 100 members each paying an
annual subscription of Rs. 250/-

N

b} Subscription received includes Rs. 2,000

/;elating to the year 2015-16.
/ Depreciate library books at 10% p.a.

MB of entrance fee is to be treated as income.

Prepare income and expenditure account of
the club for the year ending 31.3.2017.
(2x5=10)

Answer the following, It carries 8 score

Mam} and Sanu are partners in firm sharing

profits and losses in the proportion of their
capital. Their balance sheet as on 31.3.2017
was as follows.

apWle: afloivssnud

o)) @enm 106 eacmIm pad. Af)EIOQIG}0
(al®1UBatdo 250 ®)ad o alolavosy
BHOSIHN N

snil) aulldalafdleeym aidlaveai@lad 2,000 ol
SO AUBHHBHXIOM (2015-16).

) OORIENIOT NNSEY 10% and-dle Finasicd
Wl laslewd & algemo.

WL ag)BsWAS anlw)Os 2/3 cauio LoD
@RV SHEMBEIBHEMo.

Qenilom 31.3.2017 @ @AUTLOMI@EH M
AUGaxiom sl ealelal
DWYINIED) .

@10 B8) D 5YiE
(2x3=10;
®IDY 2l C213YEDID) ORGSR}, 8
avea»03
7. amaie MIMinije algoglav enllaulmay;
00T, @BAUB E1ER-MaHSIMMU AlpslS)my
@OAUDIOS LIEILNTOHTY @M DMOTILINENT.
GHAVIOE 3152017 HEI MBI 2ljUsHS

DB0S) 6 M),
Balance Sheet as on 31.3.17

| Habilities Rs. Assets Rs. |
Creditors 37,000 Cash 28,000 ?

Profit and loss account 30,000 Stock 58,000

Bill payable 13,000 Bill Receivable 24,000

Capital : Manu 1,00,000 lant & machinery 70,000

Sanu 50,000 1,50,000 Debitors 30,000

Furniture 20,000

2,30,000 2,30,000
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aj

b)

a)
b)
c)

2

a)

* b)

c)
d)

They admitted Tinu into the firm on the above
date for 1/4th share in future profits on the
folloewing terms.

Tinu should bring Rs. 1,10,000 as his capital
and Rs. 24,000 as his share of goodwill.

There was an unrecorded liability of Rs.
2,000 to be brought into record relating to
repairs.

Provision for doubtful debts is to be provided
at 10% on debtors.

af)

NS0 alosomi Bl dlairve @raId gim)
aMOIBE oIV aldosfloow] (alcauwl
aflaf). g'mailed encowlond s 1/4 @ren?,
089 (2101 t0FENAD 300463303 glmailead
(G VAV SUOWSHBOEN),

qlm) 1,10,000  ©)al me@mmhog
2)eiwma0ig)o 24,000 O)at TVTICYING ale:
@RHVIZl0 HHOENBIQIO6Mo.

snil) Glaj@OIMSBS 2,000 Gjal OB:0S)ENADMSSO)

) VoI AU

NNSSITY  COAIRIS}OmEMo.

HSODIMIBS B 0)® O3
awaﬁeg@'cmkm@ 10% GaleMo.

awl) equoselado alal 52,000 0}l @ERWIS

The stock was revalued at Rs. 52,000.
)
Plant and machinary is to be depreciated at
10% p.a.
Prepare revaluation account. capital accounts
of partners and new. Balance sheet of the firm.
(1x8=8)
PART B

al)MAMIBen W),

0% & 9anHlmol 10% darle:mlossicd
Wlailslewsd ealgemo.

OlQIOEILICAIHMTE GRBODNE, alBH:0S]H8)es
DRIWM  BRHE DTE ol nIdE&]lal(@o

DGO (Ix8 = 8)

COMPUTERISED ACCOUNTING

Answer all question from 1 to 3. Each question
cgrries 1 score

PRTN, SRTN are used for coding purchase
return and sales return respectively. This is
an example of code.

Block code

Mnemonic code
Sequantial code
All of the above

Which among the following is used to interact
with database.

Table
Forms
Queries
Reports

1 3)MO3 3 UPCV)AS GalIGYERUBAY DOMOHRY)D) .
$602 GalGiOmIMYo 1 TEHI

ag))

PRTN, SRTN ag)am? @i0o(@cio ald@ay$al
olegem)e OALDIGIS Slegem)o el
£21QOMIEN} ©alcROUEN)MT. BT
@IOPOWIAN GBI BSEIE oB@IOM
©30a006MA6M).

GERIOB) BBHOAL

enil) mleaomla:s caoad
avl) av1eeIBatyold GBS
awl) mglad alosooN@len)am af)eloo.

2.

af))

IS OVYMDITE  EAGIEENITVIROW]
DWBOOHS OalYGOM DalCWOUWlHR AN
AR ?

esenilyd

6nfl) Gan2omy
avl) &0t
) oleajod5my
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// From the following find odd one out

a) Hard ware

b) Soft ware
c) people
' d) Malware (virus}

(3x1=3)

Answer any 2 questions from 4 to 6. Each
‘ question carries 2 score
|

‘ 4.  State any two uses of spreadsheet in business
‘ application

| 5. State any two classification of functions
| available in spread sheet

' 6. Name the spread sheet function used to
compute depreciation.

(2x2 = 4)

Answer any 3 questions from 7 to 10. Each
question carries 3 score

- imndlsr cwslnin the A rceatg oo sari e
Briefly exp 1e Account groups available

hata

b War /£ 3
in Tally / Gm

/8./ State the reason for tne following errors
commonly found in spread sheet.

-

a) #DIV/Oerror
b) # N/A error
c¢) #REF error

9. How will you create a company in Tally /

gnukhata.
z:@ State any three advantages of using graphs and
< charts

/| (3x3=9)
Answer the following question which carries 4
score
11. Write a short note on the following

‘ a) Queries

b) Forms (Ixd4=4)

Y S B B Y 7 L3 A e 4 s Tt o e AR £

3. ®00¢ 6:035)0m6lee)m@iad ailano e -]
WGBH6)MTIOM  HEETROD) D>

af)) a00@W eHAUWA
enfl) cavoady eaiwd
ail) aflaflud

adl) omdeawd (9emodd) Gul=%

4 MMOd 6 USCW)BH Gal0B 6T
agomaleno 2 afanamlal QOMGEHY)T) s,
0603 GalIGYOMIN)e 2 GUEHIAD

4. enflavimq 200 8 @R o1 € ED als 3
Mol oHiglom agemsslane 2 Salc@ouie
af) 9.

5. Ul aldlad eicymowlg)8s ope@esie)e
eE)  ®eOMIeN88  ano6l e avls a)
RNV 01IEHOHMD  af)PIO) .

6. IOl HIGIod AallaTleWas®B wmaneEad
HOYMOND DatCWOUIBN)TN w06 adaing
(80_16‘;(0%1;{?5)3:%

LP-F. T -}

7 @3 10 UHOW)RS GaldBYGEBUBA afjex0ieds e
3 oeapomial QOMONMEIM)dH. BOCOT
Caloayomim)e 3 aAvesad

7. soell, uN)Eeem agavlal aleimowialssyan
@Ta@e)fomé’ ROLIENT= B o]
Qilai@lee) .

al}©) o6

8. MW H1Gled £l &06Mea|s)ITN
069 MafloflEN)aD OOQHBIOS GLOETIC
o) $IO .

&) #DIV /O error

b) # N/A error

c) # REF error

9.  500il/UNEHoEm af)VIUGTIG B3y @]
af)sBBlOMWO (HIGWY §aiQIAND.

0. (N0a0)BB)o 21085)E:8lo DalGWOCTA9)AND)
OBHOMBIBH aBO@B:]IRN0 B)AN] EMZEN3 L3
Ay el céh. 3x3 =9;

WIDY HBHIS)TWHIDIBNAN CaldBYEHs it
SHOOHDPIM S DOMROOND 4 GTCanE @

N

. ®06Y alo@)ANTOmalgl sl aflcielen)s

ag)) 1017

enil) eanooms (Ix4 = 4)

Accountancy with CA - 7/7

‘ -



